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VERBS: The Gerund ===

Which form is correct here, the gerund or “to + infinitive”? Cross out the wrong form.
(Welche Form ist hier die Richtige, das Gerundium oder ,to + Infinitiv"? Streiche die falsche Form
durch!)

1. He clearly remembers walking / to walk past a strange car on his way home that night.

2. Please remember emptying / to empty the rubbish bin today.

3. Sometimes you just can't avoid making / to make mistakes.

4. I can't imagine climbing / to climb Mount Everest!

5. We should consider changing / to change the plans.

6. She tends sleeping / to sleep late at the weekends.

7. Stop pretending being / to be asleep, I know you're awake!

8. It's not worth waiting / to wait. She won't show up now.
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SOLUTION
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He clearly remembers walking / to walk past a strange car on his way home that night.

Please remember emptying / to empty the rubbish bin today.

Sometimes you just can’t avoid making / to make mistakes.

I can't imagine climbing / to climb Mount Everest!

We should consider changing / to change the plans.

She tends sleeping / to sleep late at the weekends.
Stop pretending being / to be asleep, I know you're awake!
It's not worth waiting / to wait. She won't show up now.
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